£ gy
% =
R g
- v % 3F

1 B 5=,

24 P
B

2

104 &

]

Sl %

T



1 Bk
-
AN %
~ 10
5
+
213
127
2
~5JJ
-;{ﬁ*’

|-







-n"L

WA 1
T AR S o IR J Nl B 4955
vV IOE L & XEZ o

%?ﬁpﬂ‘"a*@ 9—4_}?‘" L}_#?’,‘?Jﬁa

R e o
RARTYFEFT 7 W EF o

R N AR RS N
B Y AR A3 A
AFPj2i e R EY FAAFY


http://www.ncyu.edu.tw/files/site_content/gec/%E5%9C%8B%E7%AB%8B%E5%98%89%E7%BE%A9%E5%A4%A7%E5%AD%B8%E6%A0%A1%E8%A8%82%E9%81%B8%E4%BF%AE%E3%80%8E%E5%B0%88%E6%A5%AD%E6%A0%A1%E5%A4%96%E5%AF%A6%E7%BF%92%E3%80%8F%E9%96%8B%E8%AA%B2%E8%A6%81%E9%BB%9E1040421%E6%95%99%E5%8B%99%E6%9C%83%E8%AD%B0%E9%80%9A%E9%81%8E.pdf



https://docs.google.com/forms/d/1SKjGIg8nglQV2hVKrXwUoBd8U9FwJxcyDtiwYE04-yc/viewform?c=0&w=1
https://docs.google.com/forms/d/1SKjGIg8nglQV2hVKrXwUoBd8U9FwJxcyDtiwYE04-yc/viewform?c=0&w=1
https://docs.google.com/forms/d/1SKjGIg8nglQV2hVKrXwUoBd8U9FwJxcyDtiwYE04-yc/viewform?c=0&w=1
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